LO: Solve word problems about place value
Everybody have a go at the medium – if it is too easy, try spicy. You can mix and match too if you like, as long as you have done at least 4 sections. 

Spicy Challenge
Medium Challenge
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[image: ][image: ]                              							Now write a little comment about how you found that task overall…Be honest! If you needed a little help from an adult or friend, just say! Equally, if you just steamed through it and found it easy peasy – say so and I’ll aim for something harder next time! I want to know what you are capable of. I have tried to make them trickier this week, so please don’t worry if you struggled a bit!
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Self – Assessment:





image1.jpeg




image2.png
£ ClessDojo for Tea: X

[ Mail—creynoldsC x ([ TwinkiSearch X (& SpialiingDeciml

x

G geography -Goo: X | G greaterdepthdec X )/ [ Mastery Assessme X

c

@ files///C:/Users/reynoldsc/Downloads/Mastery_Assessment Y6_Low_Res.pdf

‘Think about the number 34 567800.

Say this number aloud.
Round this number to the nearest million.

What does the digit'8'represent?
What does the digit'7' represent?

Divide this number by 100 and say your answer aloud.
Divide this number by 1000 and say your answer aloud.

Miss Wong, the teacher, has four cards. On each card is a number:

5999

59943

60026

62312

She gives one card to each pupil. The pupils look at their card and say a clue.
Anna says,'My number is 60 000 to the nearest 10 thousand!

Bashir says, My number has exactly 600 hundreds in it/

Charis says, "My number is 59900 to the nearest hundred!

David says,'My number is 60 000 to the nearest 10!

Can you work out which card each pupil had? Explain your choices.
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Teachingfor Mastery: Questions, tasks and actiities o supportassessment

Put these numbers in order, from smallest to largest.
33,3.03,333,3303,3033
5834, 61-8 multiplied by 100, one tenth of 45813
0034, 36 divided by 100, ten times 0:0033
~44,-444,-4.04,-4-404

Estimate the answer to 4243 + 1734 by rounding the numbers to:
the nearest 1000
the nearest 100

Eduardo says, The the population of Mexico City is 11 million (to the nearest
million) and the population of New Yorkis 11-2 million (to the nearest hundred
thousand)!

He says, The population of New York must be bigger than the population of

Mexico City because 11-2 million is bigger than 11 million!

Do you agree with him?
Three pupils are asked to estimate the answer to the sum 4243 + 1734,

Andrew says, To the nearest 100, the answer will be 5900
To the nearest 50, the answer will be 6000;
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Put these numbers in order, from smallest to largest.
33,3.03,333,3303,3033
5834, 61-8 multiplied by 100, one tenth of 45813
0034, 36 divided by 100, ten times 0:0033
~44,-444,-4.04,-4-404

Estimate the answer to 4243 + 1734 by rounding the numbers to:
the nearest 1000
the nearest 100
the nearest 50
the nearest 10.

The population of Shanghai is 21 million, to the nearest million. Each person
‘weighs on average 70kg.

Estimate the total weight of all the people in Shanghai.

Do you think your answer is more or less than the actual answer you'd get i you
weighed everyone in Shanghai accurately?

Eduardo says, The the population of Me; 11 million (to the nearest
million) and the population of New York is 11-2 million (to the nearest hundred
thousand)!

He says, The population of New York must be bigger than the population of
Mexico City because 11-2 mi bigger than 11 million!

Do you agree with him?

Three pupils are asked to estimate the answer to the sum 4243 + 1734,
Andrew says, To the nearest 100, the answer will be 5900

Bilal says, To the nearest 50, the answer will be 6000

Cheng says, To the nearest 10, the answer will be 5970

Do you agree with Andrew, Bilal or Cheng?
Can you explain their reasoning?

The total population of Shanghai is 21 million, to the nearest million.

If at lunchtime everyone in Shanghai eats a bowl of rice, how many grains of rice
do you estimate are eaten each lunchtime?





